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D–900 

M. A./M. Sc. (Fourth Semester) (Main/ATKT) 

EXAMINATION, 2020 

GEOGRAPHY 

Paper XVI 

(Geography of Health) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- „Preventive and Social Medicine‟ fdrkc ds ys[kd dkSu gSa \ 

¼v½ ts- ,e- es 
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¼c½ ts- bZ- ikdZ 

¼l½ vkj- ih- feJk 

¼n½ th- ,Q- ikby 

Who is writer of the book „Preventive and Social  

Medicine‟ ? 

(a) J. M. May 

(b) J. E. Park 

(c) R. P. Mishra 

(d) G. F. Paile 

2- vkj- ih- feJk dh fdrkc gS % 

¼v½ esfMdy T;ksxzkQh vkWQ bf.M;k 

¼c½ fizosfUVo ,oa lks’ky esMhflu 

¼l½ esu ,.M fgt bUok;jesaV 

¼n½ Qkm.Ms’ku vkWQ esfMdy T;ksxzkQh  

Which is the book of R. P. Mishra ? 

(a) Medical Geography of India 

(b) Preventive and Social Medicine 

(c) Man and His Environment 

(d) Foundation of Medical Geography 
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3- „World Atlas of Epidemics Disease‟ iqLrd dc izdkf’kr gqbZ \ 

¼v½ 1952&56 

¼c½ 1953&57 

¼l½ 1954&58 

¼n½ 1955&59 

Which year published the book “World Atlas of Epidemics 

Disease.” 

(a) 1952&56 

(b) 1953&57 

(c) 1954&58 

(d) 1955&59 

4- vUrjkZ”Vªh; HkkSxksfyd la?k ds vUrxZr fpfdRlk Hkwxksy dh LFkk;h 

lfefr ds v/;{k Fks % 

¼v½ ,- Vh- ,- fy;jeaFk 

¼c½ ts- ,e- es 

¼l½ th- ,e- gksos 

¼n½ ,y- Mh- LVSEi 

Who is the predisent of Medical Geograhy of International 

Geographical Union ? 

(a) A. T. A. Learmonth 

(b) J. M. May 

(c) G. M. Howe 

(d) L. D. Stamp 



 [ 4 ] D–900 

 (B-31) 

5- fpfdRlk Hkwxksy ds LFkku ij LokLF; Hkwxksy ‘kCn dc iz;qDr fd;k 

tkus yxk \ 

¼v½ 1975 

¼c½ 1976 

¼l½ 1977 

¼n½ 1978 

In which year the term used health Geography on the place 

of „Medical Geography‟ ? 

(a) 1975 

(b) 1976 

(c) 1977 

(d) 1978 

6- dk;Z {ks= esa lkekU; :i ls ik;k tkus okyk jksx dkSu&lk gS \ 

¼v½ ân; jksx 

¼c½ peZ jksx 

¼l½ ekufld jksx 

¼n½ xzafFk laca/kh jksx 

Among the following common occupational disease in 

working place : 

(a) Cardiovascular disease 

(b) Skin disease 

(c) Mental disease 

(d) Endocrine disease 
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7- uxjksa esa ok;q iznw”k.k dk eq[; lzksr gS % 

¼v½ tykÅ ydM+h 

¼c½ m|ksx 

¼l½ vkWVkseksckbYl 

¼n½ xSl LVkso 

Major source of air pollution in the city is : 

(a) Burning wood 

(b) Industries 

(c) Automobiles 

(d) Gas stove 

8- ^foVkfeu Mh* dh deh ls dkSu&lk jksx c<+rk gS \ 

¼v½ fjeksVkbV 

¼c½ okr jksx 

¼l½ gkfuZ;k 

¼n½ nqcZyrk jksx 

Deficiency of „Vitamin D‟ gives rise to : 

(a) Rheumatism 

(b) Arthritis 

(c) Hernia 

(d) Rickets 
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9- ,p- vkbZ- oh- (HIV) ‘kjhj ds fdl Hkkx dks izHkkfor djrk gS \ 

¼v½ ikpu ra= 

¼c½ jksx izfrjks/k 

¼l½ ukM+h ra= 

¼n½ ‘olu ra= 

Which system of the body is infected by HIV ? 

(a) Digestive 

(b) Immune 

(c) Nervous 

(d) Respiratory 

10- ^eksVkik* fdl dkj.k ls gksrk gS \ 

¼v½ vf/kd dSyksjh miHkksx 

¼c½ vf/kd izksVhu miHkksx 

¼l½ vf/kd foVkfeu miHkksx 

¼n½ buesa ls dksbZ ugha 

„Obesity‟ occurs due to : 

(a) More consumption of calories 

(b) More consumption of protein 

(c) More consumption of Vitamins 

(d) None of these 
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11- fo’o LokLF; laxBu us LokLF; ij vYek vkVk laxks”Bh fdl o”kZ 

vk;ksftr dh \ 

¼v½ 1968 

¼c½ 1978 

¼l½ 1985 

¼n½ 1988 

Alma Ata Conference on health by WHO was held in : 

(a) 1968 

(b) 1978 

(c) 1985 

(d) 1988 

12- iks”k.k Lrj dk eki dk v/;;u fdl ekiuh ij vk/kkfjr gksrk gS \ 

¼v½ lkekU; ekid 

¼c½ Js.kh ekid 

¼l½ varjky ekid 

¼n½ vuqikr ekid 

In any study nutritional status measurement is done  

through : 

(a) Normal Scale 

(b) Ordinal Scale 

(c) Interval Scale 

(d) Ratio Scale 
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13- uotkr f’k’kq ^de otu tUe* (Low Birth Weight) dgykrk gS % 

¼v½ 2-5 fdxzk- ls de 

¼c½ 1-5 fdxzk- ls de 

¼l½ 3-5 fdxzk- ls de 

¼n½ 2-2 fdxzk- ls de 

A body is called low birth weight if he/she measured less 

than : 

(a) 2.5 kg 

(b) 1.5 kg 

(c) 3.5 kg 

(d) 2.2 kg 

14- LokLF; lsokvksa dh lajpuk gksrh gS % 

¼v½ Å/okZ/kj ;kstuk 

¼c½ {kSfrt ;kstuk 

¼l½ lekukUrj ;kstuk 

¼n½ mi;qZDr lHkh 

The structure of Health Services is : 

(a) Vertical program 

(b) Horizontal program 

(c) Parallel program 

(d) All of the above 
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15- fo’o LokLF; fnol dc euk;k tkrk gS \ 

¼v½ 7 vizSy 

¼c½ 7 ekpZ 

¼l½ 6 vizSy 

¼n½ 6 ekpZ 

When is World Health Day celebrated ? 

(a) 7 April 

(b) 7 March 

(c) 6 April 

(d) 6 March 

16- fo’o LokLF; laxBu dh LFkkiuk dc gqbZ \ 

¼v½ 1944 

¼c½ 1945 

¼l½ 1946 

¼n½ 1947 

When was World Health Organization established ? 

(a) 1944 

(b) 1945 

(c) 1946 

(d) 1947 

17- vlapkjh jksx dkSu&lk gS \ 

¼v½ eysfj;k 

¼c½ {k;jksx 

¼l½ ân;jksx 

¼n½ dq”Bjksx 
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Which is a non-communicable disease ? 

(a) Malaria 

(b) Tuberuclosis 

(c) Heart disease 

(d) Leprosy 

18- dkSu&lh fpfdRlk i)fr ^f=nks”k fl)kUr* ij vk/kkfjr gS \ 

¼v½ ,yksiSFkh 

¼c½ vk;qosZn 

¼l½ gksEFkksiSFkh 

¼n½ izkd`frd fpfdRlk 

Which system of medicine is based on Tridosa theory of 

disease ? 

(a) Allopathic 

(b) Ayurved 

(c) Homoeopathy 

(d) Naturopathy 

19- ;wjksi esa e`R;q dk izeq[k dkj.k gS % 

¼v½ dSalj 

¼c½ nq?kZVuk 

¼l½ ân; jksx 

¼n½ ,M~l 
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Main cause of death in Europe : 

(a) Cancer 

(b) Accident 

(c) Health disease 

(d) AIDS 

20- fodkl’khy ns’kksa esa ekuo tkfr esa vkSlr vk;q D;k gS \ 

¼v½ 65 o”kZ 

¼c½ 66 o”kZ 

¼l½ 67 o”kZ 

¼n½ 68 o”kZ 

Average age of human beings in developing countries is : 

(a) 65 years 

(b) 66 years 

(c) 67 years 

(d) 68 years 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt all questions in 2-3 sentences. 

1- fpfdRlk Hkwxksy vkSj LokLF; Hkwxksy esa vUrj crkb,A 

What is the difference between Medical Geography and 

Health Geography ? 
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2- LokLF; Hkwxksy dh fo”k;oLrq dh O;k[;k dhft,A 

Explain the scope of Health Geography. 

3- vYek vkVk laxks”Bh ds vuqlkj izkFkfed LokLF; lsokvksa ds izeq[k 

?kVdksa dks crkb,A 

What are the main components of Primary Health Facilities 

according to Alma Ata Conference. 

4- LokLF; lsokvksa ds ck/kd D;k gSa \ 

What are barriers of Health Services ? 

5- ^lrqfyr vkgkj* ls D;k rkRi;Z gS \ 

What is meant by Balanced Diet ? 

6- lapkjh ,oa vlapkjh jksxksa esa vUrj crkb,A 

What is the difference between communicable and non-

communiable diseases ? 

7- fodkl’khy ns’kksa esa e`R;q ds izeq[k dkj.k D;k gSa \ 

What are main causes of dealth in developing  

countries ? 

8- dSalj ds eq[; dkj.k crkb,A 

What are the main causes of Cancer ? 
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 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 75 ‘kCnksa esa nhft,A 

 Attempt all questions in about 75 words. 

1- fo’o esa LokLF; Hkwxksy ds fodkl dks crkb,A 

Describe the development of Geography of Health in the 

world. 

2- LokLF; Hkwxksy vkSj i;kZoj.k foKku esa laca/k crkb,A 

What is the relation between Geography of Health and 

Environmental Science ? 

3- fo/kk;d vkSj izfrjks/kkRed LokLF; esa vUrj crkb,A 

What is the difference between positive and preventive 

health ? 

4- O;kolkf;d LokLF; lsok ds ewy dk;Z D;k gSa \ 

What are main functions of occupational health services ? 

5- Hkkjr esa LokLF; laca/kh Lo;alsoh ik¡p laLFkkvksa ds uke fyf[k,A 

Write five names of health related non-government 

organizations in India. 
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6- N% Vhdkafdr jksxksa ds uke fyf[k,A 

Give name of six diseases for immunized. 

7- {k; jksx ds HkkSxksfyd forj.k vkSj Lo:i dks izHkkfor djus okys 

dkjdksa dks crkb,A 

Describe the factors influencing the geographical variation 

and trends of Tuberculosis (TB). 

8- egkekjh] LFkkuh; jksx vkSj fo’oekjh jksxksa esa vUrj  

crkb,A 

Give difference among the epidemic, endemic and pandemic 

disease. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj vf/kdre 150 ‘kCnksa esa fyf[k,A 

 Write answer of all questions in maximum 150 words. 

1- ekuo LokLF; vkSj jksxksa dks izHkkfor djus okys HkkSfrd dkjdksa dh 

O;k[;k dhft,A 

Analyse the physical factors affecting the Human Health and 

Disease. 
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2- Hkkjr esa fpfdRlk lqfo/kkvksa ds vleku forj.k ds fy, mŸkjnk;h 

dkj.k crkb,A 

Explain the causes responsible for the uneven distribution of 

medical facilities in India. 

3- Hkkjr esa dqiks”k.k izfr:i ,oa ‘kklu ds iz;kl dks crkb,A 

Give spatial pattern of malnutrition and efforts of the Indian 

Govt. 

4- fo’o esa eysfj;k dk forj.k izk:i crkb,A 

Describe the world distribution of malaria. 

 

 

 

 

 

 

 

 

 

 

 

 

D–900  


